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Multiplication-2
Multiplication Facts of 6 (1)

—o— I

J

—»[3FmdB There are 6 lemons on one plate. There are 3
plates. How many lemons are there altogether?
Write a math sentence and find the answer.

Math sentence| 6 | X | 3 | = Ié{

There are 6 chocolates in one box. Write multiplication math
sentences and find the answers.

There are 6 chocolates in one box.

There are 5 boxes.

There are 6 chocolates in one box.

There are 6 boxes.

There are 7 boxes.

There are 6 chocolates in one box.

There are 8 boxes.

There are 6 chocolates in one box.

There are 6 boxes.

5
6
0 There are 6 chocolates in one box.
8
@

X[ 1|2

3

4

5

6

7

66|12

18

24

30

36

42
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Can you say the multiplication ()
facts of 6 from 6 X 9,6 X 8....?2 © U o




——

( Multiplication-2 )
L 11 B 2 Multiplication Facts of 6 (2) )

—»[3EdE There are 6 donuts in one box. There are 3
boxes. How many donuts are there altogether?

g/l:;[lrt]ence 6 X 3 — I Answer |8 donuts

Read the following questions. Write the math sentences and
find the answers.

o There are 6 eggs in one package. There are 5
packages. How many eggs are there altogether? /

Answer eggs

Math
Sentence

9 There are 6 apples in each box. There are '/
boxes. How many apples are there altogether?

Math

Sentence Answer apples

9 Six students make one group. There are 8 groups.
How many students are there altogether?

Math

Sentence Answer students

@ There are 3 children. Each child has 6 pieces of candy.
How many pieces of candy are there altogether?

Math
Sentence

pieces of

Answer candy
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( Multiplication-2
L 11 B 3 Multiplication Facts of 7 (1)

J

—»[3FmdB There are 7 lemons on one plate. There are 2

plates. How many lemons are there altogether?

Write a math sentence and find the answer.

@ @ Math sentence

7

X

2

B

Seven pens are sold in one set. How many pens are there?
Write multiplication math sentences and find the answers.

T 1]

QO0OOOO 0 0 O

| set
| 2sets

There are b sets.

How many pens are there altogether?

There are 6 sets.

How many pens are there altogether?

There are 7 sets.

How many pens are there altogether?

There are 8 sets.

How many pens are there altogether?

There are 9 sets.

How many pens are there altogether?

2

3

415

6

7

8

9

7

|4

2

28|35

42

49

56

63

112
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Let’s have a problem

X

X

X

with friends, like “what is ¢ U
7]

the answer to 7 X 8?”

®
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( Multiplication-2 )
L 11 B 4 Multiplication Facts of 7 (2) )

=»[FE&dE There are 7 marbles in each bag. There are 3
bags. How many marbles are there altogether?

@ @ @
@0V 90V @
o0 ©o0 ©00
gﬂ::\?ence 7 X 3 — I Answer 2| marbles

Read the following questions. Write the math sentences and
find the answers.

o There are 7 fish in each tank. There are 3 tanks.
How many fish are there altogether?

Math

Sentence Answer fish

Q There are 7 pieces of cakes in each box. There are 4
boxes. How many pieces of cake are there altogether?

Math
Sentence

pieces of

Answer cake

9 There are 7 mangoes in each basket. There are 5
baskets. How many mangoes are there altogether?

Math

Sentence Answer mangoes

G There are 3 fishing boats. Seven fishermen are in each
fishing boat. How many fishermen are there altogether?

Math

Sentence Answer fishermen
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Multiplication-2
11 B 5 Multiplication Facts of 6 and '/

1! The following tables show the multiplication facts of 6

and 7. Write the numbers in the

X | 2 | 3|4 | 5167|849
6 12 30
7 2] 49

|8

O 7x4=

= [2Em3 Calculate the following multiplications.

D 6x3=

o

I_Z_I Calculate the following multiplications.

114
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You can do @), ©),
- If you practice

them repeatedly,
you will surely be
able to say them

smoothly.
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( Multiplication-2 A
L 11 B 6 Multiplication Facts of 8 (1) )

<»[3E€nJ5 There are 8 carrots in one basket. There are 2
baskets. How many carrots are there altogether?
Write a math sentence and find the answer.

|6

%4 Math sentence| 8 | X | 2 | =

There are 8 pieces of bread in one package. How many pieces
of bread are there? Write multiplication math sentences and
find the answers.

3 packages X -

0 mm /4 packages
) o _

€ There are 5 packages. v, _
How many pieces of bread are there altogether?

) There are 6 packages. % _
How many pieces of bread are there altogether?

0 There are 7 packages. v _
How many pieces of bread are there altogether?

€) There are 8 packages. 5 _
How many pieces of bread are there altogether?

€) There are 9 packages. % _
How many pieces of bread are there altogether?

®

X[ 1]1213[4|5[6|7|8|9| Letshavea problem with friends, ()
818 116124132140(48(56|64]72] like “what is the answer to 8 X 527 © U
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i Multiplication-2 )
L 11 B 7 Multiplication Facts of 8 (2) )

—=»[2Em3 There are 8 cans of juice in one box. There are 3
sets. How many cans of juice are therealtogether?

'“mgae8x3=%ﬁwm%?%e

Read the following questions. Write the math sentences and
find the answers.

o There are 8 buttons in one package. There are 6
packages. How many buttons are there altogether?

Math
Sentence Answer buttons
A A

9 There are 3 pencils in each case. There are 5
cases. How many pencils are there altogether?

Math

Sentence Answer pencils

e There are 8 photos on each page of the album. This
album has 7 pages. How many photos are there in this

album altogether?

Math

Sentence Answer photos

G There are 4 boats. Eight people are in each boat.
How many people are on the boats altogether?

Math

Sentence Answer people
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( Multiplication-2 )
11 B 8 Multiplication Facts of 9 (1) )

—»[3Emd5 There are 9 carrots in one basket. There are 2
baskets. How many carrots are there altogether?
Write a math sentence and find the answer.

|§

Math sentence| 9 | X | 2 | =

There are 9 chocolates in one box. How many chocolates
are there? Write multiplication math sentences and find the

answers.

OBl ) <[]

“ EH B L= %%

4 boxes

€ There are 5 boxes. % _
How many chocolates are there altogether?

) There are 6 boxes. v _
How many chocolates are there altogether?

0 There are 7 boxes. % _
How many chocolates are there altogether?

) There are 8 boxes. . _
How many chocolates are there altogether?

€) There are 9 boxes. . _
How many chocolates are there altogether?

In the group, let’s have a problem. £
X1 112]3[4][5|6]7[8]|9] Who can give the correct answer a”
919 |18]|27|36|45|54(63|72|81| fast? bd

@
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i Multiplication-2 )
L 11 B 9 Multiplication Facts of 9 (2) )

—» (@& There are 9 sweets in one box. There are 3
boxes. How many sweets are there altogether?

I\S/l:;?ence 9 X 3 =727 ‘ﬁnswer 77 | sweets

Read the following questions. Write the math sentences and
find the answers.

o Nine people are lined up in each row.
There are 2 rows. How many people are

there altogether?

Math

Sentence Answer people

9 There are 9 marbles in each package. There are 5
packages. How many marbles are there altogether?

I 1)
0@
= 1)
Math
Sentence Answer marbles

0 There are 9 students in each group. There are 6
groups. How many students are there altogether?

Math

Sentence Answer students

G There are 4 boats in the sea. Nine people are on each
boat. How many people are there on the boats altogether?

Math

Sentence Answer people
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( Multiplication-2
11 =10 Multiplication Facts of |

J

~[3€mB There is | carrot on one plate. There are 3
plates. How many carrots are there altogether?
Write a math sentence and find the answer.

e «=B% \ath sentence

Lo 2

| | X | 3 | =13

There is | melon in one box. Write multiplication math

sentences and find the answers.

/] 3 boxes
4 boxes

There is | melon in one box.
There are 5 boxes.
There is | melon in one set.
There are 6 boxes.
There is | melon in one set.
There are 7 boxes.
There is | melon in one set.
There are 8 boxes.
There is | melon in one set.
There are 9 boxes.

X[ 112134 |5]6|7|8]|9
|1 1] 2]3]4]|5]6|7]8]9

Q00000 6 0 O
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The multiplication facts
of | is very easy, isn’t it?

X =

X =

A
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Multiplication-2
1 1 B " Multiplication Facts of 8 and 9

1! The following table shows the multiplication facts of 8
and 9. Write the numbers in the

X I 2 | 3|4 516 | 7|89
8 40
9 27 63

= [2Zm Calculate the following multiplications.

D sx3=|2% € 9x5=|45

You can do @), €,
I_Z_I Calculate the following multiplications. €+ Let’s practice

them many times.
%% @ sx3= O 9xi= Joy %%
€ sx7= O ax|= =
O sxs5= O 9xs5=
@ sx2= € ax7=
08><|= ®C7><2:
() 8x6= M 9x6=
B 8 x8= D 9x3=
O sx4= D 9x9=
) 8 x9= 0 9x8-=

120
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Multiplication-2
11 B 12 Multiplication Facts of 7/ and &

1! The following table shows the multiplication facts of '/
and 8. Write the numbers in the

X | 2 | 3|4 516 |7] 8|9
7 28 49
8 40

—=»[2EmiE Calculate the following multiplications.
O 7x5=|35 O sx2= |6?

You can do @), €), ©---Let’s
I_Z_I Calculate the following multiplications. say them smoothly without

looking at the answer.
%% O 7x3= O s8x4= %%
€ 7x7= O sx|= =
O 7x5= O sx5=
07><2= 08><7=
O 7x1= @ sx2=
@ 7x6= M sx6=
B 7x8= D sx3=
O 7x4= D sx9-=
@ 7x9= @ sxs=

121
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Multiplication-2
11 B 13 Multiplication Facts of 4 and '/

1! The following table shows the multiplication facts of 4
and /. Write the numbers in the

X I 2 | 3|4 516 | 7|89
4 24
7 2] 49

= [2Zm Calculate the following multiplications.

O 4sx3=|12 O 7x4= 28?

You can do @, €, O
2! Calculate the following multiplications. - Hide the answers and

L practice them repeatedly.
%% @ 4x5= O 7x4= %%

€ 4ix8-= O 7x 1=
O ix3= O 7x5-=
@ sx2= O 7x7=
0 ix6= @ 7x2=
@ 4x1= D 7x6=
® 4x7= D 7x3=
O 4x9-= D 7x9-=
@ 4x4= O 7x8=

122
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Multiplication-2
Multiplication Problems

11 -14

~ (305 There are 6 donuts in one box. There are 5
boxes. How many donuts are there altogether?

J

~F  Math

Sentence donuts

6 X 5 =30

Answer 30

Read the following questions. Write the math sentences and
find the answers.

o There are 8 donuts in one box. There are 6 boxes.
How many donuts are there altogether?

Math

Sentence donuts

Answer

6 Six children are sitting on each bench. There are 7
benches. How many children are there altogether?

Math

Sentence children

Answer

6 Each minibus can hold 9 people. There are 4
minibuses. How many people can be held altogether?

Math

Sentence Answer

people

G There are 7 children. | am going to give 3 pieces of
candy to each child. How many pieces of candy do |

need?

Math
Sentence

W JICA 24 AE& _P110-131.indd 123

o

Answer

pieces of
candy
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( Multiplication-2
§ 11 B 15 Times as Much and Multiplication

J

—»[@&ndE Answer the following problems.
(A) [ V4

|
v T >
H

0 Colour in the tape so that it is 3 times as long as (A).

9 The length of tape (A) is 2 cm. How many cm is the
tape that you coloured?

Math 7?7 X 3 =6 |Answer| 6 |cm

Sentence

I_I_I Answer the following problems.

% (B)
| a

o Colour in the tape so that it is 5 times as long as (B).

9 The length of tape (B) is 4 cm. How many cm is the
tape that you coloured?

Math

Sentence Answer cm

I_Z_I A toy train is 4 cm long.

4 cm
) How many cm are 2 trains together? @@
Math
Sentence Answer cm
@ How many cm are 3 trains together? gﬁ
Math
Sentence Answer cm

124
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( Multiplication-2
L 11 B 16 The Multiplication Table (1)

< Instruction

Multiplication Math Sentence:

Number of Total
: : Number of |
objectsin | X OUDS = | number of
each group grotip objects

Write the numbers in the following multiplication table.

You can do the Facts of |, Facts of 2, Facts of 3.... ﬁ
Forexample | X | = [,| X2 =21 X3 = 3,.... bd

%% Multipliers %%

12134 |5]6|7|8]|9

®

N
w

Facts of |
Facts of 2
Facts of 3
Facts of 4
Facts of 5
Facts of 6
Facts of 7
Facts of 8
Facts of 9

Multiplicands

OV 0| I OO0 &~ W DN

125
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( Multiplication-2
11 -17

The Multiplication Table (2)

S00000000

00000000 5

¢ U > Arrange |8 dots in various ways.

OO0000|| 3| X

o
Il
00

~[2EnB  Find the multiplication sentences that match |83.

O00000 ﬁﬁm

There can be these
arrangements. VWhat
else are there?

G There is this arrangement.
Ah
What else are there?

00000000
00000000
Q0000000

W JICA 24 AE& _P110-131.indd 126

X

X

X

X

I_Z_I Find the multiplication sentences that match 24.

24
24
24
24
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( Multiplication-2
11 B 18 Making Multiplication Problems

J

—»[2EniE Look at the picture and make a multiplication
problem. Then write a math sentence and find
the answer.

LK

Multiplication| There are 5 donuts on one plate. There
problem
are 3 plates. How many donuts are there
altogether?

Math 5 X 3 = |5 [Answer| |5 | donuts

Sentence

Look at the following pictures and make multiplication %%
problems. Then write math sentences and find the answers.

o i JAAAL  Multiplication problem

e

6 %[][] st gttt Multiplication problem

Math
Sentence

Answer pens

o9 See
900 866

009 966
VO9 Oe9
900 066

Math
Sentence

Answer chocolates

127
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( Multiplication-2
11 . 19 Problems

J

~[3E0E How many chocolates are in the box altogether?

Think about different ways to find the answer.

Method 1

29roups of 2 make 2 X 2.
3 groups of 6 make 6 X 3.
2X2=4and6 X 3 = 8.

\4 + 18 = 22. 22 chocolates

Method 2

5groups of 2 make 2 X 5.
3 groups of 4 make 4 X 3.
2Xxb5=1[0and4 X 3 = |2

IO + 12 =22 22 chocolates';':*':'__ Y _'i.

Method 3

59roups of 6 make 6 X 5.
2 groups of 4 make 4 X 2.
6 Xx5=30and 4 X 2 = 8.

\30 — 8 = 22. 22 chocolates

'''''''''''''''''''''''''''''''''''''''''''

...................................

..................

...................................

..................................

...................................

..............................

1! How many sweets are in the box altogether?
Think about different ways to find the answer.

SEEEEE
WELLLE

128
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I_Z—l How many stars (* ) are there altogether?
Think about different ways to find the answer.

% ok K ok & ok & ok
Yook % ok & ok & ok
Yok K ok & ok & &
% ok % ok & ok & ok

* K K
* K Kk
* K K&
* K &

% ok K ok % ok & K
¥ ok % ok & ok A &
Yook K ok & o A A
% ok K ok & ok A K

* X * X
* X * X
* X * X

|_3—I How many star marks (* ) are there altogether?
Think about different ways to find the answer.

W JICA 24 AE& _P110-131.indd 129 $
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[11 '20 Review ]

I_l_' The following is the multiplication table. Write the
numbers in the blanks.

X | 2 | 3| 4 | 56 |7]| 8¢9

OV o0 3|0 | 01| | WD

|_3_I Calculate the following multiplications.

130
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|_2—I Read the following questions. Write the math
sentences and find the answers.

There are 7 peanuts in each bag. There are 6 bags.
How many peanuts are there altogether?

Math

Sentence Answer peanuts

There are 6 pens in one set. There are 4 sets. How
many pens are there altogether?

Math

Sentence Answer pens

|_3—I Answer the following questions.

(A)
Colour in the tape so that it is 3 times as long as (A).
The length of tape (A) is 3 cm. How many cm is the
tape that you coloured?
Math
Sentence Answer cm

L' How many sweets are in the box altogether?
Think about different ways to find the answer.

ee
e
a6
eedde
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